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il AT, KEES T, U0 shopping, finding the way, doing one’s homework, seeing a doctor, making a
phone call, weather report, asking for different kinds of information 5% .
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Where does/did this conversation probably take place?

Where are the two speakers?

Where can you see such plants?

] . Where does the conversation most probably take place?

A. In a restaurant. B. In an office. C. At home.

Wy JiAt L

W: OK, time to go home.

M: I can’t, because I haven’t finished the report about the newly opened restaurant.

W: Well, if you carry on working like that, you’ll make yourself ill.
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ZLEH B, RIFEF —AHE T “time to go home” VL K ik Jg — A By B “Well, if you carry on
working like that, you’ll make yourself ill.” ¥ %n gt Bt 3 3% & 4 & TAE 3 P

2. NI R B G

A HER BB SO R, Hal—2MCHER R, FEEERTREIENAE ., BT
IE RSB HRr . H IR IRE A

What’s the relationship between the two speakers?

Who is the man/woman most probably speaking to?

What is the man/woman?

What is the man’s/woman’s job/occupation/profession?

5] Who is Chris Paine?

A. A computer engineer. B. A book seller. C. A writer.

UF STk

W: I like to read Chris Paine.

M: So do I. I hear he writes on his computer and his new book will come out next week.

W: Great.

ZE N C, RIEE 4 P8 “Ihear he writes on his computer and his new book will come out next
week.” 7 %1 Chris Paine & — % 1E % .

3. HEFILHA] i

UL AR A U &, TEAR RN IR R R I H M 5 B W AR B A
What does the man/woman mean?

What do we learn from the conversation?

Why is the woman so happy?

What does the man/woman imply?

What can be inferred from the conversation?

151 . What does the man mean?

A. He had a terrible vacation. B. He remained at home all the time.
C. The woman asked a silly question.

Wy J3AA L

M: Alen, ... how was your vacation?

W: Just don’t ask. I wish I had never had it.

ERENA, FE—REENEH, WENEAEXRTSELAR, TEURAEMETREGR
& WABAE B F B Y EBE A “ T wish T had never had it.” ¥ &0 {5 4R HE £
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What does the man/woman say about/think of...?

How does the man/woman feel/like about...?

What’s the man’s/woman’s opinion about...?

] . What does the woman think about the man’s idea?

A. It’s interesting. B. It’s worth trying. C. It’s impractical.

UF bR

M: Air pollution is so bad in this city. I think the government should stop people from driving cars on certain

days.

W: I see your point, but I still think it wouldn’t be possible to stop people from driving.

HEH C, MAE P X417 “wouldn’t be possible” [ #niX il 4 4A K F IR F| W2 FFE
WATH 7= A TAT, AW ERT,

. AEFR

1RSI 2 5 UM BILFR L JBEZ A B

W 3 R A TR BE R AT DA 2R B 2R a2 . A2 RS IE)Z K . B & T ik
BRI fG — 2R, BRI L,
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h. BHRK

LB O, B I

TEWT TN, AU Z R sk, RI— 25 H, BV S i oe s s RN A 240
ERTH O BER BT 1 o AN INZAE RO, HEBRARE, (O, RO, 28Rk .
W 7R B BEXHAE (145 m AR o e v e — 6 - S5 EORE 241y bo RS A DA T 4 W iR i 4 J LA
s 1] A PRS0 W A A IR RS LA R R I, DA TR 5 A SR L s ] B B



e BHRIERNDE— (T)

B RER, EFZAIRE ., O B IEHENT ARG T RE R ), S R ERS, A R
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2. SpAE A, PR S

— MR, BEIE T 7 32 A R S AR (E B RE T, X 288K £ ) when, where,
who, what, why, how FF5ERIAAIEURBL, 1% ERALFEIE SRR . BeE SR s 505
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NZEH a2 — B4, B T Eim K B, AEAE i —i, Xk % A AR
JOEARE IR AT 55 A N BR) 5, DA DA e ) 20 T i S 15 2

5. What is the woman doing?

A. Helping children with AIDS.

B. Raising money for African children.

C. Collecting information on African children.

Wy JiA4 kL

W: Excuse me, sir. I'm collecting for International Aid. Could you spare some money?

M: Erm... what’s International Aid?

W: It’s an organization to help starving children in Africa.

M: OK. I'll see what I've got.

W: Thank you very much.

R4 I'm collecting for International Aid and an organization to help starving children in Africa
% B Mo

3 RSB, J0HE R in]

FENATH H R AW, Y3 2 kIR k. 45 . o, (Zd viim A ORISR . 48
AN REEE L B BEINT . FERCRMNGE S, X R oW B e W 5w, WA e
BURBATRNLL | S AR EIE SRR R LR B AR A . R 2R R 2R SRR B ) EOE B
REATIHE DLIRA “but”, —MekUd, W JUHETEE but 5] RS, OB 20 . HoAth
RPN LIAIA A though, although, even though, even if, in spite of, despite, unless, instead
of, however %%,

TSR RR A BLAY [R) ), 0 TE A0 0 B D0 3% 5 0 SR s AN S B R ) B 2 R 4 . 001 e i 2
IR E VNSRBI FEE . AN - SR O G R FIGR] 4, 40 little, few, doubt,
seldom, hardly, too... to 55, HHNEAENIZ T fBEIEFR S H AR L, EREIE LT
R R A BARTEST T (0 G BRI SR RHR A H5 Bl

. 1. Why does the man ask the woman for help?

A. He has to read a report. B. He has to write a paper.

C. He has to wait for a call.

2. What does the man ask the woman to do?

A. Buy some food.

B. Make tomato soup.

C. Bring back the café.
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3. What does the woman think of the man?

A. Lazy. B. Greedy. C. Curious.

Wr 34Kt

W: Oh, I finished my report finally. How about your paper?

M: Done. But I'm waiting for an important call. By the way, are you going to the café? Can you bring me
something to eat?

W: Sure, what would you like?

M: Erm... I think I'll have a chicken sandwich.

W: OK. A chicken sandwich. Anything else?

M: Soup would be good. Yes, bring me tomato soup and a salad and a chicken sandwich.

W: Fine. Tomato soup, salad and a chicken sandwich. A piece of pie for dessert?

M: No, but you know I love cakes most. Bring me three cakes and some cookies, too.

W: Cakes and cookies?

M: Right. That’s too much. Forget cookies, just bring me the cakes. And a glass of milk and some coffee
and ...

W: Still more? Why don’t I just bring back the whole café?

1. A& 4% But I'm waiting for an important call ¥ C 7,
2. # 4% Can you bring me something to eat? ¥t A i,
3IMRAEE ik W ER Lz fa Rk, 4+ I I P, Why don’t I just bring back the
whole café? & = 5+ &%, #% B T,
\ J
4. Wridi 4y, 8RS0
S Y AV AT S AR SCRE R ), R B A R R R, RV R R RO LG,
5 A A RSB RO AR, SCER T A N AR ISR U] F ) . PR, AR VR AR AT R AT LA SR
BENNE . QnlEA A TR A h 2 F iz s oy £ B2 bRd . ol AR S E# W 55 07
TS, B AN EEA I AE T,
il . Which would be the best title for the passage?

A. The development of watches and clocks.

B. The functions of watches and clocks.

C. The importance of watches and clocks.

W JI R

I’'m sure almost every one of you looked at your watch or a clock before you came to class today. Watches
and clocks are very important in our life. But watches and clocks were seldom seen in the United States before
the 1850s. In the late 1700s, people did not know the exact time unless they were near a clock. Those delightful clocks
in the square of European towns were built for the public. After all, most people didn’t have enough money to buy their own
watches or clocks. Well, until the 1800s in Europe and the United States, the main purpose of a watch was to show
others how wealthy you were. By then, with the rapid industrial development in the United States, measuring time
had become very important. Since industrialization made it possible to produce large numbers of watches and

clocks in factories, they became fairly cheap. “Being on time” had come into the language and our life.
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1. What is the boy’s grandfather doing?
A. Fishing by the river.  B. Reading an email. C. Taking a bath.
2. When will the man come back?
A. In two weeks. B. In five weeks. C. In six weeks.

3. Where were the two speakers probably?

A. On a farm. B. In a bookstore. C. In a supermarket.
4. When did the man leave for home?
A. At nine. B. At ten. C. At ten thirty.

5. What’s the probable relationship between the two speakers?
A. Customer and waitress. B. Doctor and patient.
C. Husband and wife.

SFFT Wr i 5 BOW IR e e B sl R A LA/ IVEL, MG
FRETZAEY AL B C =M IiUh gk th e gk T, Wi Bl sl A, 130
I [ Bl 2451/, BRIVl 5 B0l W See, A5/MELEE 45 5 BV R g VR It

] BOCH A B 32

Wres 6 Betpkl, I3 6. 7 /L

6. Why is it an important day for the man?

A. He will sign an agreement.

B. He will attend a wedding.

C. He will take part in a sport meeting.

7. What color is the tie the man will wear?

A. Red. B. Blue. C. Grey.
WrER 7 Bkl I 8. 9 L

8. What kind of bread for the first two sandwiches?

A. Bread with cheese. B. White rolls. C. Sliced wheat bread.
9. Where does this conversation happen?

A. In a coffee shop. B. In a school canteen.
C. In a fast food restaurant.

WrER 8 Bebbkl, IMI2&R 10 2 12 75,

10. What will the woman do in the evening?

A. Read books.

E&y KR
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B. Sing songs.

C. Tell stories.

11. What will the man do this summer?
A. Work at the store.

B. Go to the camp.

C. Go to the mountains.

12. How many times did the man go camping?

A 2. B.9. C. 4.

Wreg 9 Bekb R, &% 13 & 16 8,

13. What does the man think of visiting art galleries?

A. Too expensive. B. Worthwhile. C. Tiring.

14. Where did the woman go recently?

A. Washington. B. Seoul. C. Paris.

15. How old is the woman now?

A. 22 years old. B. 26 years old. C. 28 years old.

16. Why didn’t the woman visit Musee d’Orsay?

A. She was short of time.

B. She wasn’t interested in it.

C. She didn’t have enough money.

e 10 Bepkl, IS 17 2 20

17. When is the high tourist season in England?

A. June and July. B. August and September.

C. July and August.

18. When is the holiday period of state schools in England?

A. From early-July to mid-August

B. From mid-July to mid-August.

C. From about mid-July to the end of August.

19. Where do people prefer to stay for holidays?

A. In rented houses. B. In boarding houses.  C. In hotels.

20. What may British people refuse to do?

A. To talk about their holidays.

B. To try new places to take holidays.

C. To change the times of their holidays.

AR () R

E—F Ur R s B B A — A/ MEL, B R ETER Y AL

B, C =AML rp it fe R, Wrod B BOIh e, IRHERAT 10 Ab3h g i )k

1254 S/ MBI 132 R —/ ML, 4 BOHA % — 8

1. What is the man doing?

A. Introducing a job. B. Asking for an order.

C. Asking about delivery.

8
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2. When will the woman’s friend arrive?

A.At10: 15. B. At 10: 45. C. At 10: 20.
3. Who might the woman go to the film with?
A. The man. B. Her son. C. Her husband.

4. What is the probable relationship between the speakers?

A. Policeman and driver. B. Teacher and student.

C. Boss and secretary.

5. Why does the woman choose the violin?

A. She needs a cheap instrument.

B. She wants to be like her friends.

C. She thinks it is cool to play the violin.

EITH VTTIG S BOAHASONC . AB R R A LN, W
RS AL B C AU BRI U BRSO 1T, AT
R 1) B 12 4>/ IV, A /NS FRpds WRsg)a, A/ VB4t SRR AG VRS
(] o A BO R B 32 9 3l

UF 6 BebPR, WSS 6. 7 .

6. When was the plane supposed to arrive?

A. At 8:00 pm. B. At 9:00 pm. C. At 10:00 pm.
7. What caused the delay of the plane?
A. The bad weather. B. An engine problem.  C. The air traffic control.

WreR 7 BORPRL, IRI2&5R 8 2 10 .

8. Who is the woman?

A. An architect. B. A saleswoman. C. A gallery worker.
9. How did the man know about the gallery?

A. From his friend. B. From a website. C. From a magazine.
10. What does the man think of the exhibition?

A. He didn’t like it at all. B. He liked the video a lot.

C. He found the paintings great.

Wreks 8 BobbkL, 55 11 2 13 3,

11. How much does the man pay for car insurance?

A. $100 a month. B. $200 a month. C. $1,000 a year.

12. What is the woman’s point in the conversation?

A. She seldom uses her car.

B. The man is a great driver.

C. Men drive more carelessly than women.

13. How many accidents has the woman been in this past year?
A. Four. B. Three. C. Zero.
WrEr 9 Bebbkl, &5 14 2 17 7L,

14. What might prevent the man from visiting the woman this weekend?

A. The rain. B. His girlfriend’s work.
C. Mark’s work.
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15. What are the man and Mark interested in?
A. Board games. B. Cooking. C. Car-repairing.
16. What are the woman and Lucy good at?

A. Cooking. B. Driving cars. C. Playing games.

17. Which road did the man use to take to go to the woman’s?

A. Highway 17. B. Highway 27. C. Highway 70.

WTER 10 BobbRE, [01252 18 2 20 L.

18. What is the speaker mainly talking about?

A. The origin of advertising.

B. The prosperity of advertising.

C. The development of advertising.

19. What’s the financial source of the mass media?

A. Advertisements. B. The private businesses.

C. The local governments.

20. What does the speaker probably talk about next?

A. All kinds of advertising.

B. The popularity of advertisements.

C. People’s opinions on advertising.

SEREDIEE (=)

E—F WS BV, BB A AN, BT AL

B, C =Aetirp ik it fe g 0, Wrod B BOW GG, URARA 10 Ab4h it i a) ok

(1254 S/ MBI 132 T —/ VL, 43 BOHA % — i

1. What does the woman suggest drinking?

A. Tea. B. Juice. C. Cold water.

2. Why hasn’t John noticed the soup boiling over?

A. His mind is wandering.

B. He is not standing nearby.

C. He is thinking of taking something to New York.

3. What probably the speakers do after the dolphin show?

A. Have a cup of tea. B. See the monkeys.

C. Watch the elephants show.

4. What does John’s sister play now?
A. The violin. B. The piano. C. The guitar.

5. Why did the woman run into the man?

A. She was running too fast.

B. She was looking at her phone.

C. She was holding too many papers.

10
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6. When will Mr. Smith pick up the speakers?

A. At 9:00 am. B. At 2:00 pm. C. At 5:00 pm.
7. Where will the speakers be at 6:00 pm?
A. In the hotel. B. On the banana farm. C. In the butterfly park.

MR 7 Bokb kL, RIS 8. 9 M,

8. What does the woman usually do after work?

A. Goes jogging. B. Goes to the gym. C. Goes back home.

9. What does the doctor advise the woman to do?

A. Have more sleep. B. Do more exercise. C. Eat light dinner.
Wres 8 Bobbat, [R5 10 £ 12 34,

10. Why does the woman invite the man to the beach?

A. To relax. B. To see a whale. C. To collect some plastic.
11. Who will deal with the garbage?
A. The community. B. The government. C. A recycling company.

12. How is the woman?

A. Lazy. B. Responsible. C. Emotional.

WrEs 9 Bebbkl, [MI2&5R 13 & 16 7L,

13. Where does Dr. Gucci work?

A. In London. B. In Paris. C. In Bergamo.

14. When will Mr. Wilkinson leave for the airport?

A. At about 6:30 am. B. At about 5:30 am. C. Atabout 4:15 am.
15. With whom will Mr. Wilkinson have lunch on Monday?

A. Gianni Riva. B. Gavin. C. Mr. Brown.
16. What is Linda most probably?
A. A secretary. B. A tour guide. C. A saleswoman.

WrER 10 Bobbwt, &5 17 £ 20 &,
17. How does the speaker think about the activities?

A. They are easy. B. They are diverse. C. They are educational.

18. What kind of course are the children expected to attend?

A. The 7-week course. B. The full-week course.

C. The single-day course.

19. Who can attend this year’s course?
A. Children aged 3—5.  B. Children aged 5—7. C. Children aged 8—10.
20. What should the children do in advance to apply for the course?

A. Pay all the fees. B. Choose their activities.

C. Fill out an application form.

11
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1. What was the man doing when the phone rang?

A. Taking a shower. B. Cleaning the floor. C. Doing the laundry.
2. Which pair of shoes was comfortable?
A. The third pair. B. The second pair. C. The first pair.

3. For how many people does the man book a table?
A 4. B. 5. C.6.
4. Where will the speakers take Jerry for lunch?

A. To a restaurant. B. To a cafe. C. To a bar.

5. What are the speakers talking about?
A. Where to put the fridge. B. When to buy a cupboard.
C. Whether to move the fridge.
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6. Where are the speakers?

A. In a store. B. In the man’s house. C. In a restaurant.

7. What is in the refrigerator?

A. A cup of green tea. B. Large pieces of ice. ~ C. Bottles of water.
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8. Why doesn’t the man choose the table?

A. The style isn’t nice. B. He doesn’t like the color.

C. It’s too small.

9. How does the man finally pay in?
A. With a store card. B. In cash. C. By credit card.

10. Where does the conversation possibly happen?

A. In a furniture shop. B. In a restaurant.

C. At the woman’s house.
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11. Who is the woman?

A. A policewoman. B. A doctor. C. The man’s classmate.

12. What is the man worried about?

A. His broken arm. B. The coming exams.  C. The wound in his leg.




e BHRIERNDE— (T)

13. Where does the conversation probably take place?

A. In a classroom. B. In a hospital. C. In the street.
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14. Why does Kevin say life on Frenchboro is different?

A. Tt’s very simple. B. It’s quite exciting. C. It’s rather hopeless.
15. What is the school on Frenchboro like?
A. It has no teachers. B. It has small classes.  C. It has fifty students.

16. What will the people on Frenchboro do when they need medical care?

A. They go to the mainland. B. They visit the local hospital.

C. They ask the visitors for help.
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17. What do we know about the film?

A. It’s about nature. B. It’s a children’s film.

C. It has won an international prize.

18. When does the museum close?

A. At S pm. B. At 6 pm. C. At 7 pm.

19. What can children do at the basement?

A. Draw pictures on computers. B. Watch a working steam engine.

C. See a lifesized model of a spaceship.

20. How will the listeners get in touch with the program to get free tickets?

A. By letter. B. By email.

C. By phone.
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1. What will the woman do tonight?

A. Go to see a doctor. B. Have a rest at home.

C. Go to see a film with the man.

2. How long can the man keep the book?

A. For three weeks. B. For two weeks. C. For one week.

3. What does the woman want to have?
A. A hat. B. A coat. C. A box.

4. What are the speakers comparing?

A. Two movies. B. A movie and a novel.

C. Two types of music.

5. What do we learn from the conversation?

A. Tony could not continue the experiment.

B. Tony finished the experiment last night.

C. Tony will go on with his experiment.
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6. What relation is the woman to the man?

A. His teacher. B. His classmate. C. His workmate.
7. Where is Queensland?
A. In Canada. B. In America. C. In Australia.
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8. What is the relationship between the speakers?
A. Husband and wife. B. Father and daughter.

C. Salesman and customer.

9. What does the man suggest the woman buy for Hila?

A. A blue shirt. B. A green coat. C. A white sweater.
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10. How did the woman book the movie tickets?

A. On the Internet. B. At the ticket office.

C. On the phone.

11. When did the speakers plan to meet the Smiths at first?

A. At 11:30. B. At 12:00. C. At 2:00.
12. Where will the speakers go first?
A. To the cinema. B. To the restaurant. C. To the bookstore.
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13. What is the man?

A. A writer. B. A hotel manager. C. A reporter.
14. What did the woman with her friends go to Dalian for?

A. Summer holiday. B. National Day. C. Labor Day.
15. What was the woman disappointed with?

A. The food. B. The room.

C. The attitude of the guide.

16. What do you know about the woman?

A. She didn’t want to answer the man’s questions.

B. She may go to Dalian again.

C. She would never visit Dalian again.
e 10 BobbAE, [H1245% 17 2 20 L.
17. What is the speaker talking about?

A. How to build a healthy relationship.

B. How to read others’ mind.

C. How to develop your listening skills.

18. How many suggestions are referred to?
A. Two. B. Three. C. Four.
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19. What isn’t referred to in the passage?
A. Speak up. B. Appreciate each other.  C. Listen intently.

20. Which is impolite when making a conversation?

A. Let others finish their thoughts. B. Reflect when others speaking.
C. Hold in the things that bother you.
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1. What was the hotel like in the past?

A. The meals were good but not the rooms.

B. The rooms were good but not the meals.

C. The meals and the rooms were terrible.

2. What is the woman doing?

A. Taking a bus. B. Taking a plane. C. Taking a taxi.

3. What are the speakers trying to do?

A. Call a taxi. B. Catch a bus. C. Find a timetable.

4. What does the man think of the show?

A. It’s out of style. B. It’s interesting. C. It’s a modern show.

5. What are the speakers mainly discussing?

A. Doing Ben’s laundry. B. Folding clean clothes.

C. Washing the woman’s dirty clothes.
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6. How does the woman sound?

A. Excited. B. Annoyed. C. Stressed.
7. What do the speakers want to do?
A. Clean the ships. B. Take pictures of the ships.

C. Read stories on the ships.
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8. Why is the man talking to the woman?

A. To ask for some advice. B. To apologize for his mistake.

C. To say thanks to her.

9. Why were the man’s parents angry with him last week?

A. He rang them up at midnight.
B. He didn’t get home until midnight.

C. He got into a fight with his classmates.
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10. Where is the café?

A. In the park. B. Next to the bank.

C. Across from the shopping center.

11. What did George think of the food in the café?

A. Cheap. B. Delicious. C. Terrible.

12. What is the relationship between the speakers?

A. Husband and wife. B. Brother and sister. C. Co-workers.
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13. What is the man doing?

A. Taking a test. B. Doing a survey. C. Discussing his school life.

14. What attitude does the woman take towards homework at university?

A. Serious. B. Unconcerned. C. Positive.

15. What kind of teacher does the woman prefer?
A. A strict teacher. B. A knowledgeable teacher.

C. An understanding teacher.

16. Why does the woman prefer printed materials?

A. She likes to make notes while reading.

B. She has the habit of reading the printed materials.

C. She finds it difficult to read the multimedia materials.
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17. Why do people buy so much toilet paper?

A. They need a large amount of toilet paper in their lives.

B. They want to get control of their lives when in trouble.

C. Toilet paper’s very cheap so they can save some money.

18. What does the phrase “ramp up” in most probably mean?

A. Increase. B. Decrease. C. Change.

19. What can be concluded from the speaker?

A. Retailers cannot provide enough toilet paper in a short time.

B. The prices of toilet paper are certain to keep rising in the future.

C. Manufacturers won’t increase the production of toilet paper dramatically.
20. What is the attitude of Dino Bianco?
A. Concerned. B. Excited.

C. Objective. #_r Z0
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1. What will the weather be like tomorrow?
A. Rainy. B. Windy. C. Sunny.
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2. What is the man going to do with the TV?

A. Turn it up. B. Turn it down. C. Turn it off.

3. What time will the ship leave?

A. At 6:55. B. At 7:05. C. At9:15.

4. What did the man buy?

A. A briefcase. B. A suitcase. C. A cigarette case.

5. Why has the woman been away recently?

A. To visit a friend in Paris. B. To spend her holiday.

C. For business.
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6. Where is the woman right now?

A. Inside the city. B. Near a faraway town.

C. Outside the city.

7. Why will the woman pay extra money?

A. Because of the weekend rate.

B. Because of the type of vehicle.

C. Because of the traveling distance.
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8. Where did the man most probably lose his phone?

A. On the underground. B. In a bank.

C. In a restaurant.

9. What will the man do before five o’clock?

A. Buy a new phone.

B. Make a call to the woman.

C. Meet the woman.

10. How does the man feel in the end?

A. Surprised. B. Grateful. C. Doubtful.
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11. What is the weather like now?

A. It is windy. B. It is snowing. C. It is raining.

12. How did the woman get to the coffee shop?

A. She took a subway. B. She drove her car.

C. She walked a few blocks.

13. Why did the woman come to the café?

A. She thought she would study well there.

B. She planned to own a coffee shop someday.

C. She wanted to be surrounded by other students.
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14. Why can’t the party be held in the Pine Room?

A. Itisn’t big enough. B. It is under decoration.
C. It will be used by others.

15. How many people are expected to attend the party?

A. About 250. B. About 300. C. About 350.
16. What is said about the White Room?

A. It was newly decorated.

B. It will be used from 4:00 pm.

C. It is filled with too many used books.

17. What will the man do next Friday night?

A. Make a speech. B. Take part in a party.

C. Prepare for a speech.
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18. What makes Beijing Opera different from theatrical art forms in many

other countries?

A. It has one opera singer on stage.

B. It has one dancer who has no speaking role.

C. It includes spoken parts, singing, dancing and acrobatics.

19. How did the traveller feel after watching Beijing Opera for the first time?
A. Bored. B. Interested. C. Uneasy.

20. What’s the main purpose of writing the passage?

A. To tell us something about Beijing Opera.

B. To ask young people to learn Beijing Opera.

C. To show why Beijing Opera is popular in Europe.
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1. Where does Mike come from?

A. Canada. B. Australia. C. America.
2. What will the man do next?

A. Go to sleep. B. Have some coffee. C. Write a paper.

3. What is woman going to do?

A. Go to a theater. B. Buy some food. C. Clean the kitchen.

4. What does the woman think of the present?

A. She thinks it’s very good. B. She doesn’t like it so much.
C. She doesn’t know whether it suits her.

5. What does the man dislike about Portland?

A. The park. B. The forest. C. The weather.
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6. How does the woman describe her students?

A. Various. B. Boring. C. Educational.

7. When does the conversation take place?

A. At the beginning of a term. B. In the middle of a term.

C. At the end of a term.
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8. What is the first thing the man mentions about going to Cambridge?

A. British culture. B. The college’s reputation.

C. The college’s achievement.

9. What does the woman think of the man’s plan in the end?

A. Supportive. B. Surprised. C. Worried.
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10. How will the woman go to the museum?

A. By bus. B. By taxi. C. On foot.

11. How long will the woman spend on the big street?

A. About 15 minutes. B. About 30 minutes. C. About 50 minutes.

12. Where are the speakers now?

A. In a park. B. In the US Embassy.  C. At a hotel.
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13. What does the man think of Lucy’s taking flying lessons?

A. Impractical. B. Surprising. C. Interesting.
14. What is Lucy?
A. A pilot. B. A nurse. C. A doctor.

15. What does the man advise the woman to do?

A. Teach in a college. B. Start her own restaurant.

C. Organize an Italian cooking class.

16. What is the relationship between the speakers?

A. Husband and wife. B. Brother and sister.

C. Teacher and student.
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17. When should a person arrive for an interview?

A. As early as possible. B. Just at the required time.

C. No more than 10 minutes earlier.

18. How should an interviewee answer questions?

A. By focusing on job experiences.

B. By answering briefly with examples.

C. By giving some “yes” or “no” answers.
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